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No.35 BB+ S0mFjk=F .
SR ETER 41.42
& 80~84m > A& 41.42
IBhL B4 TR ER R IKE& B fE #TEcEk (R.T)
1 /NI IEJE o 2 AR 1/ 5 48. 39 ( 0.87)
92.39
No.35 BF 50mEjk= .
5 AR 8% 36.78
L 15~19:m% > A& 39. 04
B K4 gy 7K & BF Rl #FECER (R.T)
1 EEL DR W™ S C 1/ 4 50. 41 ( 0.99)
93.87
2 /INER T ey — A 1/ 6 58.27 ( 0.93)
27. 65
No.35 BB+ S0m¥Ejk = .
R 33. 54
L 10~T14:% > A4 35. 85
B K4 B ER R K& B M FEcEk (R.T)
1 HE & ~ v 7 fJE )| 2/ 5 42. 81 ( 0.98)
20. 02
2 EH  FEHE BEWS C 2/ 6 48. 40 ( 0.98)
92.79
3 & G AT e des 2/ 2 52.22 ( 0.84)
24. 42
No.35 BB+ S0mjk = .
R 32.50
& 65~69% > A& 33. 86
IEfI K4 FTEREFR K& B #EcEk (R.T)
1 s fi TIPAEKE 2/ 4 35. 82 ( 0.75)
16. 77
2 78 L& e MG 2/ 3 46. 57 ( 0.88)
21.80
3 AR JE N 7 ST 2/ 1 57.38 (1.17)
28. 65
No.35 BB+ S0mFjk = .
SR ETER 31.51
& 60~64% > A& 32. 62
IBhL B4 TR ER R IKE& Bl #EcEk (R.T)
1 A FIT Bernese S 3/ 4 33.44 (0.71)
15. 32
2 JF:[ 5 kA BIR 3/ 6 39.92 ( 0.63)
18. 61
No.35 BB+F 50m¥FikE .
R EC Bk 29.22
& b5~H9m > A A5 30. 55
B K4 B R K& BF fEl  #TEcEk (R.T)
1 BxH fuz Rs—style 3/ 3 35.17 ( 0.66)
16. 41
2 NH {#& 774D 3/ 5 35.24 ( 0.73)
16. 31
3 HH & L A — 3/ 2 40. 61 ( 0.75)
18. 60
4 [HH  #EA aF 2 LEE 3/ 8 46. 01 ( 0.68)
21.84
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SR ETER 29. 71
& 50~b54m > A& 30. 08
IBhL B4 TR ER R IKE& B fE #TEcEk (R.T)
L /AR RESL —fL& 4/ 4 30. 13 ( 0.63)
13.63
2 [HE K ADAH 4/ 5 33. 46 ( 0.74)
15. 49
3 [uH & MTR 4/ 6 33.63 ( 0.67)
15. 49
4 FTHS 7 A b~ E 4/ 3 33.64 ( 0.75)
15. 56
5 HA {744 R:Yv—7 4/ 2 35.28 ( 0.67)
16. 20
6 /N K& e — % 4/ 7 37.22 ( 0.70)
16. 80
7T EAR [ REKHE T — A 4/ 1 38.09 ( 0.69)
17.33
8 =% K= Al =ik 7 4/ 8 41. 88 ( 0.80)
19. 66
9 BRI 3% kA BIR 3/ 7 43. 49 ( 0.83)
20. 36
10 HH =} TS T 3/ 1 43. 83 ( 0.76)
19. 58
No.35 B+ S0mEjk = ;
R 28. 65
& 45~49% > B AR 28,83
B K4 TR ER R K& B #EcEk (R.T)
1 #AR FEfkd 3K+1 5/ 5 31.74 ( 0.74)
14. 81
2 L MG 5/ 6 33.26 (0.71)
15.15
3 AR tE A h~ UUTIT 5/ 3 36.00 ( 0.65)
16. 54
4 158 s PnPwin 5/ 7 38. 49 ( 0.79)
17. 64
No.35 B+ S0m¥jk=F -
R 28. 06
L 40~ > A6 28. 06
IEfI K4 TR ER R K& B fE #EcEk (R.T)
1 HEE I MTR 5/ 4 30. 33 ( 0.73)
13.82
2 JNH —H# 3K+1 5/ 2 33. 21 ( 0.83)
15. 70
No. 35 BB+F b0m¥Fik = .
SR ET Bk 26. 66
& 35~39m% > EEXAL 27. 88
B K4 FrEEE R K& B fEl  #EcEk (R.T)
1 [ AT LA vAR— 6/ 1 33.96 ( 0.83)
15. 66
2 BB EE IHhOEOR 5/ 1 40. 12 ( 0.65)
18. 39
No. 35 BBF 50miEikE ,
R ER 26.72
& 30~34E > A& 27.13
B K4 FrERR R 7K & BF Rl #FECER (R.T)
1 Hf = HILE = 6/ 3 30. 66 ( 0.66)
13.74
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14. 32
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4 PR IEfw 774D 6/ 7 33.15 ( 0.75)
15.61
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13. 52
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14. 62

HAHKE:  4H2H 15:23



